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QUESTION 1

Your customer is hesitant to install the Oracle Configuration Manager in their environment. Give them three ways in
which it will benefit their Exsdata Database Machine support experience and potentially resolve some of the issues they
are having with the length of time it is taking Oracle to process their Exadata Service Requests (SRs). 

A. Host information can be gathered and sent to Oracle for license compliance. 

B. Potential issues can be addressed before they impact operations. 

C. Priority handling can be extended for SRs, with attached configuration. 

D. Exadata patching cannot be done successfully without the Oracle Configuration Manager. 

E. Root cause analysis can be accelerated. 

Correct Answer: BCE 

 

QUESTION 2

Identify four significant changes when a backup of Exadata compute nodes must be performed. 

A. application of operating system patches 

B. before shutdown to preserve storage indexes 

C. application of Oracle patches 

D. reconfiguration of significant operating system parameters 

E. installation or reconfiguration of significant non-Oracle software 

F. storage server rebalancing 

G. addition of an Exadata storage expansion rack 

Correct Answer: ACDG 

 

QUESTION 3

Consider the following setup: 

User A1 belongs to resource group High on Database A. 

User B2 belongs to resource group Low on Database B. 

User C3 is a user on Database C without any DBRM setup. 

DBRM setup: 

Database A: Resource group High gets 80% and Low gets 20%. 
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Database B: Resource group High gets 60% and Low gets 40%. 

IORM setup: 

Database A: Share=20, limit=5 

Database B: Share=30, limit=10 

Database C: 5 shares 

Total number of shares in the IORM setup = 100 

What percent of I/O will each database user theoretically be using when the Exadata storage unit I/O throughout is used
100% and no other databases but A, B, and C are running? 

A. Al = 36%, B2=18%, and C3=9% 

B. Al = 33%, B2=33%, and C3=33% 

C. AI = 10%, B2=5%, and C3=20% 

D. Al = 8%, B2=12%, and C3=5% 

E. Al = 5%, B2=10%, and C3=85% 

Correct Answer: E 

 

QUESTION 4

Which statement is true about Exadata Storage Servers? 

A. The Exadata Storage Server automatically deletes old diagnostic and metric files. 

B. Exadata requires a running database instance on all storage servers and database servers. 

C. Redundancy for user data stored in a database that is running on Exadata is achieved with RAID5. 

D. Communication between a database and an Exadata storage flows over low latency 10 Gigabit Ethernet. 

E. Exadata uses network affinity to determine which storage server data is written. 100% Real QandAs | 100% Real
Pass 

Correct Answer: C 

 

QUESTION 5

What are three ways to be informed of an Exadata Storage Server disk failure? 

A. review of the output of LIST ALERTHISTORY 

B. review of the output of SELECT STATUS FROM VSDATAFILE 

C. review of the ILOM log 
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D. alert notifications through email when SMTP notification is configured 

E. alert notifications in the Enterprise Manager Exadata Plug-In 100% Real QandAs | 100% Real Pass 

F. review of database server iostat output 

Correct Answer: ADE 

 

QUESTION 6

You are measuring the I/O savings provided by storage indexes for Table A. One of your scripts displays the I/O savings
as a result of the storage indexes. Which two statements are true? 

SQL> select count (*) from transmap.mymap_comp 

2 where map_id between 400 and 500; 

COUNT(*) 

103000 

Elapsed: 00:00:00.08 

SQL> select b.name, a.value/1024/1024 value 

from vSmystat a, vSstatname b, 

where b.statistic# = a.statistic# 

and b.nafne in (?ell physical IO bytes eligible for predicate offload\\', ?ell physical IO interconnect bytes\\', ?ell physical
IO bytes saved by storage index\\', 

100% Real QandAs | 100% Real Pass

?ell physical IO interconnect bytes returned by smart scan\\') order by 1; 

Statistic Value (MB) 

--------------------------------------------------------------------------------------------- ----------------- cell physical IO bytes eligible for
predicate offload 2,255 .09 cell physical IO bytes saved by storage index .00 cell physical IO interconnect bytes 1.72 

cell physical IO interconnect bytes returned by smart scan 1.68 

A. The storage indexes were disabled using the DISABLE_STORAGE_INDEX Parameter. 

B. Storage Index data is not on the Cell Server\\'s region index memory structures yet because this predicate has not
been used. 

C. Since the database was started, no quires were run against this table with the same predicate. 

D. The storage indexes reduced the amount of physical I/O bytes significantly for this query. 

Correct Answer: BC 
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QUESTION 7

Which two statements are true about Exadata memory capabilities? 

100% Real QandAs | 100% Real Pass 

A. X3-8 can be purchased in a Half Rack configuration with 2 TB of memory. 

B. X3-2 memory can be expanded to 512 GB per node from 256 GB. 

C. X3-2 memory can be upgraded to use Flash in the compute nodes. 

D. X3-8 memory is fixed at 4 TB per a Rack. 

E. X3-2 can be purchased in a Half Rack configuration with 256 GB per node. 

Correct Answer: DE 

 

QUESTION 8

The mpstat output from OS Watcher shows a database node as being 90% idle on an average. What would you do to
get a full picture of CPU utilization on the entire Exadata RAC cluster? 

A. Average the mpstat id1 output from all the nodes. 

B. Ask application users if they have noticed a slowdown in screen response. 

C. Look for an increase in batch job servicing times. 

D. A and B above 

Correct Answer: A 

 

QUESTION 9

Which three migration options are available when you migrate a database from the Big Endian format system to
Exadata? 

A. Data Pump Export and Import 

B. transportable database 

C. transportable tablespaces 

D. Data Guard 

E. Insert as Select 

Correct Answer: BCD 

 

QUESTION 10
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Identify two ways to reduce the risks associated with the software updates that are performed on a production Exadata
system. 

A. Patch all systems at once instead of one at a time. 

B. Test on an Exadata system that is identical to the production system first. 

C. Updating an engineered system has no risk. 

D. Patch on the standby system first by using Data Guard Standby First Patch Apply. 

E. Create a system-wide firmware and software snapshot first. 

Correct Answer: BD 

 

QUESTION 11

Identify the correct steps required to upgrade a 1/8th rack of Exadata to a 1/4th rack. 

A. Remove the doors of the 1/8th rack. Add the new servers. Cable the Database Servers in the rack. Cable the
Exadata Storage Servers in the rack. Close the rack. 

B. Activate all cores by using a software command. Activate all hard drives and flash drives. Create the grid disks.
Expand the Oracle ASM diskgroups. Review the new configuration. 

C. Remove the doors of the 1/8th rack. Add an additional Sun Datacenter InfiniBand Switch. Add the new servers.
Cable the Database Servers in the rack. Cable the Exadata Storage Servers in the rack. Close the rack. Configure the
new hardware. 

D. Activate all cores by using a software command. Activate all hard drives and flash drives. 

Correct Answer: B 

 

QUESTION 12

Which table compression technique will not work on Exadata without licensing the Oracle Advanced Compression
Option? 

A. COMPRESS 

B. COMPRESS BASIC 

C. COMPRESS FOR OLTP 

D. COMPRESS FOR QUERY 

E. COMPRESS FOR ARCHIVE 

Correct Answer: C 

 

QUESTION 13
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Which two statements are true about migrating your database to Exadata? 

A. Because Exadata uses InfiniBand, in order to migrate your database to Exadata, you must have InfiniBand on the
system that you are migrating from. 

B. Using Data Guard Physical Standby to migrate from an 11.1 database to Exadata is beneficial because it allows you
to adopt HCC during migration. 

C. ASM and database best practice configuration supplied during Exadata deployment should be retained during and
after migration, 

D. Logical migration methods allow more flexibility than physical methods to change the database structure for best
performance. 

E. All indexes should be dropped when migrating to Exadata. 

Correct Answer: CD 

 

QUESTION 14

Consider the following software changes that are performed manually on a Linux server: 

1.

 Changes for Linux kernel firewall configuration 

2.

 Changes for custom performance monitoring tools 

3.

 Changes for security scan tools 

4.

 Changes for Linux system performance optimization 

Which of the software changes listed are permitted on Exadata Storage Servers? 

A. 1, 2, 3, and 4 

B. only 3 \\' 

C. none 

D. only 2 

E. only 1 and 2 

F. only 2 and 3 100% Real QandAs | 100% Real Pass 

Correct Answer: E 
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QUESTION 15

Which two DML operations will add rows compressed by Hybrid Columnar Compression (HCC) to a table that is created
to use HCC? 

A. INSERT 

B. INSERT with an APPEND hint 

C. UPDATE 

D. CREATE TABLE AS SELECT 

Correct Answer: BD 
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